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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — -~ — — |3mZE#BZ B -~ — - -
ZhLsh 1.00 | 0.00 ~ 4.64 57.87 | #FnLS | 000 ~ 464)| 1.86 9.94 ZhLlst 1.00 | 5.00 ~ 5.00 57.87 | FnS | 500 ~ 5.00 | 1.86 9.94
2 100kN/MZ#B% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZERBZ B -~ — - -
ZhLLst 1.00 | 000 ~ 492 61.26 | ThUS | 000 ~ 492|215 11.51 ZFhst 1.00|5.00 ~ 7.00 61.26 | TS | 500 ~ 700|215 11.51
3 100kN/MZ#B % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ 3 -~ — - -
ZhLLs 1.00 | 000 ~ 479 59.69 | FnLst | 000 ~ 479 1.95 10.41 ZFhst 1.00]5.00 ~ 5.50 59.69 | TnLst | 500 ~ 550 1.95 10.41
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — -~ — — |3mZERBZ B -~ — - -
Zh s 1.00 | 000 ~ 472 58.83 | FnLst | 0oo ~ 472 1.99 10.65 Zhst 1.00 500 ~ 5.60 5885 | FnS | 500 ~ 5.60 | 1.99 10.65
5 100kN/MZ#B% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZERBZ B -~ — - -
ZhLLsh 1.00 | 000 ~ 417 52.19 | #nhLst | 0oo ~ 417|203 10.85 ZFhst 1.00 | 5.00 ~ 5.00 5219 | FnS | 500 ~ 500|203 10.85
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZFhust ~ ZFhst ~ Zhst ~ Zhst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZFhust ~ ZFhust ~ Zhst ~ Zhst ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZFhust ~ zhst ~ ZFhst ~ Zhst ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhs ~ zh st ~ zhst ~ zh st ~




